0_3 IIII|IIII|IIII|IIII!IIII:IIII:IIII:IIII:IIII:IIII

B ok |

- Growth rate p R, !

0.25 __...—R—26T—40 ........................................................................ —
[ e R,=2.4,T =4.0 -

. —-R,=28,T_=40 -

0.2 —- 0 G i _
— meeees R,=26, T =3.0 .

- G -
L e e e

LR ERER RERENENE EEEEEEEEEENEEE SRERRERENEREREERE NEREREERRE FRRRERN RENEERERE NENNENRNN

O ] 1 1‘..'..'..'..'..;'..T.T.T.T.T.T.%..'..'..'..'..'..'..'%,.'. nRRER .'.é.'..'..'..'..'..'..fi.'..'..'..'..'..'..'.E,'. nEnRm """""""" nnRRERE

008 |t T — T

O L 111 | L 111 | L1 11 | L1 11 | L1 11 | L 111 | L 111 | L 111 | L 111 | L 111
O 10 20 30 40 50 o660 70 80 90 100
t [days]




	Contents
	Page 1


